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1. AUA=A AnNnA=A
. 53U ¢ 638 (Idempotent law)
2. AUB=BUA ANnB=BnNA
Jay) o (Commutative law)
3. AnBNnC)=(AnB)nC,
AuBulC)=(AuB)uUC.
=) 938 (Associative law)
4 ANnBuC)=(AnB)UANCQC),
’(jAu(BmC):(AuB)u(AmC).
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1. AUA=A AnA=A 2. AUB=BUA,ANB=BNA
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AN (BuC)

BUC AnB AnC AnBulC) (AnB)uUANCQC),



AuBnC)=(AuB)n(AuC).

(AuUB)Nn(AuC)

BNnC AuB AuC Au(BnQC)



(AC)C:
AN A€

@)

AU A = U,

(A UB)‘'=

(A NB)‘=

CnBC
A U B¢



A
U A¢

A
n A¢

B¢
AC
N
B¢
A
UB
(A
U
B)¢

AC



A — B =A4 NB.
A¢ — B =B — A.
A —B=A nB°".
AN(A°UB) =4 NnB.
AU(B —A) = A UB.
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AU(B —A) = A UB.
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